17D

1) N, N+2, N+4

2) 4(N+4)+1=3N+2N+2)

3) 4N+16+1=3N+2N+4
17-4=5N-4N, N=13
13, 15,17

=

N, N+1, N+2
5) 3N-5(N+1)=-1
6) 3N-5N-5=-1

2N=4, N=-2
-2,-1,0
7) .05N+.10D=1.10, N+D=15
5N+ 10D = 110
-5N- 5D = -75
5D= 35 D=7
N+(7) =15 .05(8) +.10(7) = 1.10
N=8 40+.70=1.10 v
8) Y>X-2
: HEAN
9) seegraph
-
7/
10) yes ail |
11) 5Y +6X =-19 5Y +6(1)=-19
-5Y -3X =22 5Y =-25
X= 3
X= 1 Y=-5

12) 5Y+6X=-19 = Y=-6/5X-19/5
(1)=5/6(-4)+b, b=13/3
Y=5/6X+13/3 or 5X-6Y=-26

13) 24
14) 2N-6+8N=4
15) 10N=10, N=1

16

~

3(1)-(1)2+13-4(1)=3-1+13-4=
2+9=11

17) 1/6+3/4 =212 +9M12=1112
18) .13x 180 = 23.4

19) 2A=36, A=18

20) 3x3x3x5

17E

1)
2)
3)

4)
5)

7)

8)

11)

12)

N, N+2, N+4
5N + 3(N +4) = 7(N +2) + 10

5N+3N+12=7N+ 14 + 10
8N-7N=24-12, N=12
12,14, 16

Ny N+1, N+2

7(N +2) - 5(N + 1) = 4(N) + 1
IN+14-5N-5=4N +1

2N +9 = 4N + 1

8=2N, N=4

4,5,6

10D +.25Q=100, D+Q=7

10D + 25Q = 100
-10D - 10Q = -70

15Q = 30, Q=2

D+ =7 10(5) + .25(2) = 1.00
D=5 . 50 +.50 = 1.00 v/
Y=z-2X+4 ®E T T D

see graph

yes ]

Y+X=0= Y=-X
(-X)-3X =-4, -4X =-4’
X=1 Y+(1)=0
Y=-1

Y-3X=-4 = Y=3X-4
(-2)=3(2)+b, b=-8
Y=3X-8 or 3X-Y=8

15, 30, 45, 60, 75 .
25.50, 75 LCM =75

2[1+(-8)]=18-2N
2[-7]-18=-2N

-14 - 18 = -2N
-32=-2N, N=16

3(16) - 5+ 6(16) + (10 - 6) =
48-5+96 +4 =143

2/7-114 =414-114 =314
1.20 x 100 = 120

5X+15=45
5X=30, X=6

2x3x17

18A

1) 225

2) =13

3) 64

4) =10

5) 256

6) =12

7) 45+2 =47

8) g4+7 =g11

9) 87-3=g¢

10) 38+4 =312

11) B2+3+5 = B10

12) C1+3D5+4+2 = c4p 11

13) 8xX+Y

14)  M10X-3X = M7X

15) 89+10-3 =816

16) X5Y-2Y = x3Y

18B

1)

3)

4)

5)

6)

7)

15)

16)

625

2x2x2=8

81

7x7x7 =343

289

53+6 = 59

64+2 = g6

1813-9 = 184

48+5 =413

C1+2+3 = C8

E5F3+4+2 = E5F9

B6+7C1+3 = B13C4

Y1045-3 = y12

ABX-3X = ABX

g8l - a1 suonnjos



18C

1) 196
2) -1
3) 81
4) +7
5) 33+3 =36
6) 52+6=158
7) 652=63
8) 45+2 = 47
9) AS5+2B4+1 = A7TB5
10) BY +2Y = B3Y
11) AS1= A4
12) X5+2-7 = X0
13) add
14) subtract
15) 5(N+2)-2N =4(N + 1) - 40

16) 5N +10-2N=4N +4 - 40
3N +10=4N-36
N =46 46, 47,48

17) 05N +.10D=1.60, N+D=20

5N + 10D = 160
-5N - 5D =-100

5D= 60

N+ (12) =20
D=12 N=

8

18) 3Y =-6X + 10
Y =-2X + 10/3

19 Y

X+4)=3X+2
-iX = 1 vyear
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18D
1) -169
2) +12o0r-12
3) 225
4) +10or-10
5) 73+4+1 = 78
6) 08+3+2 = 213
7) X2+9 = x11
8) A4+5B2 = A9B2
9) 853=82
10) 105-1=104
11) X10-4 = X6
12)  XAY43Y-Y - X6Y
13) divide
14)  multiply

15) 4(N+2)+3(N+4)=8N-11

16) 4N +8 +3N +12=8N-11
7N+20=8N-11
31=N 31,33, 35

17) 25Q+.10D=1.60, Q+D=7

25Q + 10D = 160
-10Q - 10D = -70

TQ -9 (6)+D=7
Q=6 D=1

18) Y =37X +30

19) (215) = 37X + 30
185 = 37X

5=X = '5weeks

20) (326) =37X +30
296 = 37X

8=X = 8weeks

14)
15)

16)

17)

-121
+14 or -14
49
+15 or -15
A2+4 = A6
53+4 = 57
A2+1B3+6C2 = ABB9C?2
X4-3 = X1
99-3 = g6
114+6 = 1110
D3X-2X = DX
M5+3-3 = M5
negative
same base
4(N +2) =3N + 3(N + 4)

4N + 8 =3N + 3N + 12
4N -4 =6N

-4=2N

2=N" 2,02

25Q+.10D=1.75, Q+D=10
25Q +10D = 175

-10Q - 10D =-100

19)

20)

15Q = 75 (5)+D=10
Q=5 D=5

4X+Y=16

Y = 25X + 50
Y = 10X + 200

25X + 50 = 10X + 200
15X =150

X=10 = 10 hours

Y = 10(10) + 200
Y =300 = 300 gizmos

5)

10)

11)

12)

13)

14)

15)

43

32

7-3+(-8) = 7-11

6-2+(-3) =65

9(-5)-(-2) = 9-3

3-8+4 = 3-4

B-2+43+5C-1-5+1 = B6C-5

C-1+3+1D-5+4-244 _ 31

854 = 820

935 =915

A-1B2B-1A-1B3 = A-1-1B2-1+3 = A-2B4

CO =1 and won’t change the answer.
B-3C3B1C3B-4= B-3+1-4C3+3 = B-6C6

V61 - 08l suonnjos



